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[RF N KER 3 AR (RETHRYD)
EERKERFRAM (RF NI

EREREFRAEME (1 Sv/h)
. N
No. TETH X5 NEELT )E]El HES (FRR-4[EDTFHE) e
! 514
50cm 0.07 0.06
591 B EBNE |BAREESAE 9H258 [ b RS
1m 0.07 0.06
. 50cm 0.11 0.10
592 =P EBHAE |LoSHhDOFAR—YAE | 9A26H L EWMILE
1m 0.10 0.10
50cm 0.12 0.11
593 B EFNE |REBKREEDHLE 9H228 THEIRG
1m 0.12 0.12
B 50cm 0.10 0.10 . )
594 B EBNE | KERGEDLE 9H258 ZEMTSIUR
1m 0.10 0.09
50cm 0.10 0.09| _ .
595 B EEFAR |REOSEHLE 9H228 g3k
1m 0.09 0.09
i 50cm 0.09 0.09
596 =P} #HELE |RAWREAE 9A25H
1m 0.09 0.10
i 50cm 0.10 0.09
597 =Fa i} #HELAR |WAE2E 98228
1m 0.10 0.09
i B 50cm 0.11 0.1
598 =P} #HELAR |WREILAER 98258
1m 0.12 0.11
i N 50cm 0.11 0.10
599 B #HELAR |BlUdtaR 98228
1m 0.11 0.11
i N 50cm 0.12 0.12
600 B #HELAR |BUBELR 98228
1m 0.12 0.12
i 50cm 0.10 0.1
601 B #HELAR |—EEoR 9H822H
1m 0.10 0.10
50cm 0.06 0.06
602 =Fa i} AEHEAR |BFLUAR 98228
1m 0.05 0.06
50cm 0.13 0.13
603 B b= /NI AT NS 9H25H
1m 0.13 0.13
50cm 0.14 0.14
604 B BREBAR [mHAR 98258 CHEILE
1m 0.14 0.14
50cm 0.13 0.12
605 B 2E BELER 9H 258
1m 0.13 0.12
i 50cm 0.10 0.10
606 gy #HELAR |EEAEsE 9826H
1m 0.10 0.10
i 50cm 0.09 0.08
607 gy #HELAR |FUELR 9826H
1m 0.08 0.09
i N 50cm 0.11 0.10
608 gy #HEAR |BLURmoRE 9826H
1m 0.10 0.10
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EEERERSRETE=_4)VHAE@FHHLAREE 150 KR
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[RF N KER 3 AR (RETHRYD)
EERKERFRAM (RF NI

EREREFRAEME (1 Sv/h)
HE N
No. TETH X5 NEELT )E]EI BIESS (PR-4BDFIE) e
! 514
50cm 0.10 0.10
609 AT HRAR |ERERAE 9H268
1m 0.09 0.10
50cm 0.09 0.09
610 gy #HELAR |3BLE 9H826H
1m 0.09 0.09
50cm 0.08 0.08
611 AT AR | KETA=TAES 9A25H EENS
1m 0.08 0.08
50cm 0.11 0.1
612 gy EBEAR | LHFRAR 98258
1m 0.10 0.11
50cm 0.10 0.10
613 SRR F= N I ek /NS 98218
1m 0.10 0.10
50cm 0.07 0.07
614 hEF RELXR |ERZARGAILE 98218 EzaAVNLEE
1m 0.07 0.07
50cm 0.09 0.08
615 & WRET #HELAR | KMEREAR 98 28H
1m 0.09 0.09
50cm 0.09 0.09
616 & WRET #HEAE |MAAE 9H28H
1m 0.09 0.09
50cm 0.11 0.1
617 & WRET #HELR |OFEDLYLE 9H28H
1m 0.10 0.10
50cm 0.07 0.08
618 & WRET #HXARE |WEAE 9H26H
1m 0.07 0.07
50cm 0.08 0.09
619 & WRET #HERAR |MEoE 98 28H
1m 0.08 0.08
50cm 0.08 0.07 \
620 K MR BT BELE |KHLAE 9H28H RIFOFGAF 2 R )
1m 0.07 0.07
. 50cm 0.10 0.10
621 &KW ET MRk | FRPRAE 9H268
1m 0.11 0.10
i . 50cm 0.08 0.08
622 K WRET #HELR |RETRTYRN =D 9H828H
1m 0.08 0.07
50cm 0.08 0.08
623 & WRET #HELAR |HR2E 9H28H
1m 0.09 0.08
i 50cm 0.08 0.08
624 2% MR BT HRAE |#ALE 9H28H
1m 0.08 0.08
i 50cm 0.08 0.08
625 & WRET #HELAR |ZEHEFERILUAE 9H28H
1m 0.08 0.08
i 50cm 0.10 0.09
626 T #HELAR |FEHREAR 98218
1m 0.10 0.09
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[RF N KER 3 AR (RETHRYD)
EERKERFRAM (RF NI

EREREFRAEME (1 Sv/h)
HE N
No. GriEs) X5 NEELT ﬁ“EI BESE (R 48D FH4{E) e

! 514
50cm 0.11 0.10

627 Liih=t:) HRLAE |Vt SREAER 98208
1m 0.11 0.11
50cm 0.10 0.10

628 T HEAR |VFiteESREAR 98208
1m 0.10 0.09
50cm 0.11 0.11

629 T HERAR |VHi3SREAE 98208
1m 0.11 0.11
50cm 0.12 0.1

630 T HEAR |VIHH4SRELAR 98208
1m 0.12 0.10
_ i 50cm 0.10 0.10

631 T #HELAR |BFUWSHELAR 98218
1m 0.10 0.09
_ i 50cm 0.10 0.10

632 T #HELAR |BFL2EHEAER 98218
1m 0.09 0.09
n BERI—a— A ik 50cm 0.10 0.10

633 HhE T {3 ~E/NES A 98218
= Lik5 1m 0.10 0.10
50cm 0.09 0.09

634 T HEAR |[RFEIEHILLAE 98218
1m 0.09 0.09
. 50cm 0.09 0.09

635 Liih=t:) HRAE  |WEART vk =9 98208
1m 0.09 0.09
. 50cm 0.09 0.08

636 Liih=t:) HEAR |FBofERTryb—2 9A20H
1m 0.09 0.08
50cm 0.10 0.09

637 HhE T HRAE (W% BMIAE 98208
1m 0.10 0.09
50cm 0.11 0.11

638 T blid /NN U p ) /N 98208
1m 0.1 0.10
_ 50cm 0.09 0.09

639 Liih=t:) #RE EFL1SHE 98218
1m 0.09 0.09
_ 50cm 0.09 0.09

640 Liih=t:) #RE EFL2EHE 98218
1m 0.09 0.09
i 50cm 0.09 0.09

641 AT HERLAE |RETREAE 98208
1m 0.10 0.09
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